A AR

Y
WK 5 BEE 2 Bt
e Sk B 0 Ko 4, ROR — B o o 3 4 B U SE A
1 R SRR ENR
KEREOAOBRTHHAORAOKANGER L CGEE 3 AMOKS
GEETHIT OV L, M AK B R EMBEIEMITHRAIE 3 55 5 TICHET 280 Z L 04
@ homm |25 100 1HM)D | 25641 1A 1 B2 | 25 4E12H 1 b ot i B
. 25 HOHA31HET | 2541 1AS0H £ T | 25 4F12A31HET 8
i H Ei 31 H 30 H 31 H 92 H
g L 7- B 23 H 23 H 22 H 68 H | fT(—)3—81
e B OB % O H 0 H 0 H 0 H
s B 384,000 M 384,000 H 384,000 M| 1,152,000 H
KEFY 13,500 H 13,500 M 13,500 M 40,500 H
- ok F Y 67.575 H 67,575 1 67.575 H 202,725 H
moE A F Y 2,000 H 9,000 H 9,000 H 27,000 H
) F Y 5,000 H 5,000 H 5,000 H 15,000 H
IR 8,000 M 10,000 H 6,000 H 24,000 H
EHBETY M M M M
M M M M
M M M M
5 E E B B
M M M M
M M M M
&t 487,075 1M 489,075 M 485,075 M| 1,461,225 H
(A) EFE2LXF4HAXICL D44 G
! KEFRAEORORET HAORIAOKBLRNIZBT
(fabg) (BBEHD [5Eﬁ@%%m$%®iﬁﬁtiﬁéﬂtﬁﬁm}
1,461,225 M=+ 92 =15,882 188 #: (1) T2 %8
M X5+365= M g ()
_________________________________________ Y TEY ST e R EE
(B) EF25&FA4RE-TELECL D4
[E\ﬁ%xmmxaﬁﬁmﬂ (% L= %)
S TREWD BN 5 DR - ‘
24,000 M+ 68 X T T 211 Mm76 g ()
(Z DOHLOFE G- ORER) (B E¥
_____________________ 1,437,226 M= 92 = 15,622 MOl & (=
(o) + 0 + =5 = 15.833 M 77 &
(C) EFE2&FE6RICL 5485 (REE4BAGHE)
(%@%?%@@)(3@%5@@#5) (ZOHORAK) R BHESHIHRE 0D
A o550 A%

[ 365 = 4 - X - = il 8 ()
_______ (FEPR A OB Cxf L COdb b A s Y Soasts) M k()
____________________________________________ ) + 6~ = W%k (K)o

(EHMT LK) [€XEE ) (ko H-#a%8) (M)
[—XS y } \
365 M % N o
(%Hﬁ)a (%%Eﬁ)a
(C’) HE25F6HICE 248 (RAKE4H-E LEHR)
E\ﬁWXﬁMX%%ﬂKiofib%nLﬂ s Li- A%
GO (PR R Ic Kb b 0 2R <) FE R % R<)
60 \
X o5 = LR ()
(=M FY 0%H) (B %) (Z DMK 5-#%H) ()
(——= - ]+ 0 om
365 = :
(%Hﬁ)a <%&Hﬁ¥1 a B
"""""""""""""""" &+ =y g

(EEHH] BIESHR,



SR DB AR LI IR LT B T G AT 5 7=
/ ]
(D)  HHIZE 3 &5 1 B KD a5
(ks 5480 (R B30
M= = ! &
ONEREOH (26 £ 1 A1 H) CHIs | OmEHEERER (k29 4 1 AD  RH) ok
NI ALY F % HARHGHE 5 00 H 4
T(=) mieks= 3 . 81 B T(=) Weeks 3 . 93 B
w Bl 384,000 m{m|i Bk 391,000 m
kO#E F 0N 13,500 1| #& F Y4 13,500
oo OF Y 67,575 mw  #m F N4 72,810 [
K24 I~ & 2 [ | BT I~ S BTN ]
en 465,075 p 3t 477,310
(E) HHIZE 3 &5 2 HIC L 548
(A -0 A HD)
M =30= fy %
(F) BRI 3 &FEIHEICL DM
(AR -0 A HD)
477,310 [=30= 15,910 1™ 33
(G) BB RFAMUCE e
SEREO R AR L B L (F) OBz X 0 215 U4
(A 50 A 4D)
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 465,075 mM+30= 15,502 1M 60 g
() R(A) (B) (C) (C) (D) (E) D5 bk b #\ &k
! 15,882 1 88 (1)
OL) (R RIS E D % )
15,882 1 88 4x 1.01 = 16,040 1 82 4
(H) B A 1T 5 ~= Fh A E U5 & 0 &8
# WEFHRAERZRAORA & A7 LT (E) OB LV G5 LI#H
Hi| (FEABKE GO A%EO)
%5 M -=30= = &%
s | (1) BRI ZTT 5 <= BHAAEC, o, MEEERAE R NKERED A ORT 5 DS« FELE
% | K AL e ok o .
s k}—%‘éi@ AamEsEmIEAEn L2 LCT(F)Ofc kv & L%
6 (FEARME GO A D)
O m+30= M %) —
ic <7> KA (B) (C) (C) (D) (E) D 5 Bk b 5\ o i ﬁ
x Fq __________ B | %
& (7) (BERELAED 2 ) H
& i < - & % Bl 5
| (D (D) oeE £ 4
g 5 ol
4
(K) A 3 458 7 I L 544 i &
i v
(L) B85 2 465 11 BT 13 IS L 548 4« g
________ W2 A L B o s s 9% w2
177 oy
B R | W & IR A Zzgfgﬁ)ﬂfg;ﬁw”% 5 RORIEI );3
25, 21 8 6,738 P%E e 7
2 THREHH
16,041 iy ( G ) 12k DA
% TS EHEOBENTIE L0 L B0 ThD D L ATEH LET,
Tk 29 £ O A O H
B o MBEEHNE2-8—1 R
N
FIRIRD < 4 m OO/OOH 2
gow s Bk






